Task:

Station

Interpreting a price and timetable
Price and timetable

tatohi = table/chart

Te Utu mo te Haere ki te Pikitia — Movie Prices

Questions / instructions:

Titiro ki te titohi e whakaatu ana i nga utu
mo te haere ki te pikitia.

Look at the table showing movie prices.
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1. | Tamaki-makau-rau, e hia te utu mo te tamaiti
kotahi ki te haere ki te pikitia i te Rahoroi?

In Auckland how much does it cost for a

child to go to the movies on Saturday? $7.50

2. | Otautahi, he aha te ra me te taima, e $7 te utu
mo te tamaiti kotahi ki te haere ki te pikitia?

In Christchurch what days and times does it
cost $7 for a child to go to the movies?

Rapare/Taite i muri i te 5 ahiahi
(Thursday after 5pm)

Rapare/Taite (Thursday)

Ramere/Paraire i muri i te 5 ahiahi
(Friday after 5pm)

Ramere/Paraire (Friday)

Rahoroi te katoa o te ra
(Saturday, all day)

Rahoroi (Saturday)

Ratapu te katoa o te ra
(Sunday, all day)

Ratapu (Sunday)

3. | Otepoti, e hia te utu mo te tamaiti kotahi ki
te haere ki te pikitia i te 4 karaka i te ahiahi
o te Rapare (Taite).

In Dunedin how much does it cost for

a child to go to a 4pm movie on Thursday?  $7.00
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m $6.50

Total score:

Students performed well on questions 1 and 3 but, on average, identified only one of the four correct answers to question 2.
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